23)

1/0 do/din(y

Ratio to ALEPH

=
o

| IIII|II||_I+ I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII|EI IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| |

0.5

91 GeV ee vy*/Z (Hadronic)
—_ — T

Rivet 3.1.10, = 3M events

m ALEPH . =
—A— Pythia 6.428 370
--8-- Pythia 6.428 391 ﬁg

Pythia 6.428 default X -:
----- »--- Pythia 6.428 pro-q20 ‘ ‘

mcplots.cern.ch [arXiv:1306.3436]

N

IIIIIIIIIIIIIIII IIIIIIIIII(IIIIIIIII IIITIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII

A
<5 i ] 257 o et
e e R SRR AR ARSI




	Contents
	Page 1


